Monitoring JavaMelody on _ip-10-0-10-142.ec2.internal

Request

Mean time (ms)
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Mean cpu time
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SELECT * FROM ( SELECT d.cnpj_issuer as cnpjEmitente,  ds.status as situacao, C
->'cte’' -> 'infCte’ -> 'ide’ ->> 'cfop’, 1, 1) IN ('5', '6', '7") THEN 'VENDA' END as tipoOperacao, d.data_emissao
dataEmissao, d.data ->'cte' -> 'infCte' -> 'ide' ->> 'nct' as numeroNotaFiscal, d.key, d.data->'cte'-> 'infCte' -> 'ide’ ->> 'serie’
d.cnpj_addressee as cnpjDestinatario,  null as codigoProduto,  null
‘cte’ -> 'infCte' -> 'ide' ->> 'cfop’ as cfop, CAST(d.data -> 'cte’ -> 'infCte’ -> ‘vprest' ->> 'vtPrest’' AS NUMERIC) as valorPro
CAST(COALESCE(d.data -> ‘cte’ -> "infCte’ -> 'imp' -> 'icms' -> 'icms00' ->> 'vbc',  d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> ‘icms' -> 'icms10' ->> 'vh)
d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> ‘icms' -> 'icms20' ->>'vbc',  d.data -> 'cte’ -> 'infCte’ -> imp’ -> 'icms' -> 'icms70' ->> 'vbe',  d.data -> 'cte’
‘infCte’ -> 'imp’ -> ‘icms' -> 'icms90' ->> ‘vbc') as numeric) as valorBaseCalculolcms, CAST(COALESCE(d.data -> ‘cte’ -> infCte’ -> ‘imp* ->
‘icms' -> 'icms00' ->> 'picms’, d.data -> ‘cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms10' ->> 'picms’, d.data -> "cte’ -> 'infCte’ -> 'imp' ->
‘icms' -> 'icms20' ->> 'picms’, d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> 'icms' -> 'icms70' ->> ‘picms’, d.data -> ‘cte' -> 'infCte’ -> 'imp' ->
'icms’ -> 'icms90' ->> 'picms’) as numeric) as aliquotalcms, CAST(COALESCE(d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms00' ->> 'vicm:
d.data -> ‘cte’ -> 'infCte" -> 'imp’ -> ‘'icms’ -> ‘icms10' ->> 'vicms', d.data -> ‘cte’ -> 'infCte" -> 'imp' -> ‘'icms’ -> ‘icms20' ->> 'vicms',
d.data -> 'cte’ -> 'infCte’ -> 'imp' -> ‘'icms’ -> ‘icms70' ->> 'vicms', d.data -> 'cte’ -> 'infCte' -> 'imp' -> 'icms' -> 'icms90' ->> 'vicms') as
numeric) as valoricms, CAST(d.data -> 'cte’ -> 'infCte’ -> 'vprest' ->> ‘vtPrest' AS NUMERIC)  as valorBaseCalculoPisCofins, 1.65
7.6 as aliquotaCofins, 9.25 as somatorioAliquotaPisCofins, CAST(d.data -> 'cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest'
valorRecolhidoPis, CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vprest' ->> ‘vtPrest' AS NUMERIC) * (7.6 / 100) as valorRecolhidoCofins, (CAST(d.d
‘cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest' AS NUMERIC) * (1.65 / 100)) + (CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest' AS NUMERIC) *
(7.6/100)) as valorTotalRecolhidoPisCofins, ( CAST(d.data -> ‘cte’ -> 'infCte' -> 'vprest' ->> 'vtPrest' AS NUMERIC) -
CAST(COALESCE(d.data -> ‘cte’ -> 'infCte’ -> imp' -> ‘icms’ -> 'icms00' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp' -> ‘'icms' -> 'icms10'
>>'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp’ -> ‘icms’ -> 'icms20' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> imp' -> 'icms' -> 'icms70' |
‘vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> ‘'icms’ -> 'icms90' ->> 'vicms') as numeric) ) as baseCalculoAposExclusaoAnte|
CAST(d.data -> 'cte’ -> 'infCte' -> 'vprest' ->> 'vtPrest' AS NUMERIC) - CAST(COALESCE(d.data -> 'cte’ -> 'infCte' -> 'imp' -> 'icms' -> 'id
->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms10' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp' -> 'icms' -> 'icms2
>>'vicms', d.data -> ‘cte’ -> "infCte’ -> 'imp’ -> 'icms’ -> 'icms70' ->> 'vicms', d.data -> cte’ -> 'infCte’ -> 'imp’ -> ‘icms’ -> 'icms90|
>>'vicms') as numeric) ) *  (1.65/100) ) as valorPisAposExclusao, (  ( CAST(d.data -> 'cte’ -> 'infCte’ -> 'vprd
CAST(COALESCE(d.data -> 'cte' -> 'infCte’ -> 'imp' -> 'icms' -> 'icms00' ->> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> ‘'icms' -> 'icms 10|
->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms20' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp' -> 'icms' -> ‘'icms7
>>'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> ‘icms’ -> 'icms90' ->> 'vicms') as numeric) ) *  (7.6/100) ) as vall
( ( ( CAST(d.data -> 'cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest' AS NUMERIC) - CAST(COALESCE(d.data -> ‘cte’ -> 'infCte’ -

@

'icms00' ->> 'vicms', d.data -> 'cte' -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms10' ->> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> 'icmg'

'icms20' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms70' ->> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp’ -> 'icm{

'icms90' ->> 'vicms') as numeric) ) ) * (1.65/100) ) + ( ( ( CAST(d.data -> 'cte’ -> 'infCte’ -> 'vprest' ->> JtPrest' AS NUME!

CAST(COALESCE(d.data -> ‘cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms00' ->> 'vicms', d.data -> 'cte’ -> 'infCte' -> 'imp' -> ‘icms' -> 'icms1|
->>'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms20' ->> 'vicms', d.data -> 'cte' -> 'infCte’ -> 'imp’ -> 'icms' -> 'icm:
>> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp’ -> ‘icms’ -> 'icms90' ->> 'vicms') as numeric) ) ) * (7.6 /100) ) )
valorTotalPisCofinsAntesRevisao, (  ( CAST(d.data -> 'cte’ -> 'infCte’ -> ‘vprest' ->> 'vtPrest' AS NUMERIC) * (1.65/100) )
CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest’' AS NUMERIC) - CAST(COALESCE(d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' ->
->>'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms10' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icm:
>> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp’ -> ‘'icms' -> 'icms70' ->> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp’ -> 'icms’ -> 'icms!
>>'vicms') as numeric) ) ) * (1.65/100) ) ) as pisRecuperarAntesRevisao, (  ( CAST(d.data -> ‘cte’
NUMERIC) * (76/1000 ) - ( ( ( CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest’' AS NUMERIC) -

> 'infCte’ -> 'imp' -> 'icms' -> 'icms00' ->> ‘vicms', d.data -> ‘cte’ -> 'infCte’ -> ‘imp' -> 'icms' -> 'icms10' ->> 'vicms', d.data ->'g
'infCte’ -> 'imp’ -> 'icms'’ -> 'icms20' ->> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> 'icms' -> 'icms70' ->> 'vicms', d.data -> 'ctg
‘infCte’ -> 'imp’ -> ‘icms' -> 'icms90" ->> ‘vicms') as numeric) ) ) * (7.6/100) ) ) as cofinsRecuperarAntesRevi
->'infCte" -> 'vprest' ->> 'vtPrest’ AS NUMERIC) * (1.65/100) ) - ( ( ( CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vpi]
NUMERIC) - CAST(COALESCE(d.data -> 'cte' -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms00' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -
'icms' -> 'icms10' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms20' ->> 'vicms', d.data -> 'cte’ -> 'infCte' -> 'im|
‘icms' -> 'icms70' ->> 'vicms', d.data -> ‘cte’ -> ‘infCte’ -> 'imp’ -> 'icms' -> 'icms90' ->> 'vicms') as numeric) ) ) * (1.6
CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest’' AS NUMERIC) * (7.6 /100) ) - ( ( ( CAST(d.data -> 'c|
‘vtPrest' AS NUMERIC) - CAST(COALESCE(d.data -> ‘cte' -> 'infCte’ -> 'imp' -> 'icms' -> 'icms00' ->> 'vicms', d.data -> ‘cte]
'imp' ->‘icms' -> 'icms10’ ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms20' ->> 'vicms', d.data -> 'cte' -> 'infCi
‘imp’ -> ‘icms' -> ‘icms70' ->> ‘vicms', d.data -> ‘cte’ -> 'infCte’ -> imp’ -> ‘icms' -> 'icms90' ->> 'vicms') as numeric) )

) as valorTotalRecuperarAntesRevisao, ( ( ( CAST(d.data -> 'cte’ -> infCte’ -> 'vprest' ->> 'vtPrest’' AS NUMERIC)
> ‘cte’ -> 'infCte' -> 'imp' -> ‘icms' -> 'icms00' ->> 'vicms', d.data -> 'cte' -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms10' ->> 'vicms', d.dat
‘cte’ -> 'infCte’ -> 'imp' -> 'icms' -> 'icms20' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms70' ->> 'vicms', d.data
‘cte’ -> 'infCte’ -> 'imp’ -> ‘icms’ -> 'icms90' ->> 'vicms') as numeric) ) - ( ( CAST(d.data -> ‘cte’ -> 'infCte’ -> ‘vprest' ->> 'vtP\
(1.65/ 100) ) + ( CAST(d.data -> 'cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest’' AS NUMERIC) * (7.6 /100) ) ) )
novaBaseGroussUpPisCofins,  ( ( ( CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest' AS NUMERIC) - CAST(COALH
'infCte’ -> 'imp’ -> 'icms'’ -> 'icms00' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms10' ->> 'vicms', d.data -> 'cte’
‘infCte’ -> 'imp’ -> ‘icms' -> ‘icms20' ->> ‘vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp’ -> 'icms’ -> 'icms70' ->> 'vicms', d.data -> ‘cte’
‘infCte' -> 'imp’ -> ‘icms' -> 'icms90' ->> 'vicms') as numeric) ) - ( ( CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest' AY
100) ) + ( CAST(d.data -> 'cte’ -> 'infCte" -> 'vprest' ->> 'vtPrest' AS NUMERIC) * (7.6 /100) ) ) )
as pisGroussUp,  ( ( ( CAST(d.data -> 'cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest' AS NUMERIC) - CAST(COALESCE(d.data -|
‘imp’ -> ‘icms' -> ‘icms00' ->> ‘vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp’ -> ‘icms' -> 'icms10' ->> 'vicms', d.data -> 'cte' -> 'infCte’
'imp’ -> ‘icms' -> 'icms20' ->> ‘vicms', d.data -> ‘cte’ -> 'infCte' -> 'imp' -> 'icms' -> 'icms70' ->> 'vicms', d.data -> 'cte' -> 'infCte'
'imp' -> ‘icms' -> 'icms90' ->> 'vicms') as numeric) ) - ( ( CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest' AS NUMERI
CAST(d.data -> 'cte’ -> 'infCte" -> 'vprest' ->> 'vtPrest' AS NUMERIC) * (7.6 /100) ) ) ) 1 ( ( 100 - (
cofinsGroussUp,  ( ( ( ( ( CAST(d.data -> 'cte’ -> 'infCte’ -> ‘vprest' ->> 'vtPrest' AS NUMERIC) - CAST(COA|
‘imp’ -> ‘icms' -> 'icms00' ->> ‘vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms10' ->> 'vicms', d.data -> 'cte' -> 'infCt}
'imp' -> ‘icms' -> 'icms20' ->> 'vicms', d.data -> 'cte' -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms70' ->> 'vicms', d.data -> ‘cte’ -> 'infCf]
'imp' -> ‘icms' -> 'icms90' ->> 'vicms') as numeric) ) - ( ( CAST(d.data -> 'cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest' AS NU
CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest' AS NUMERIC) * (7.6 /100) ) ) ) / ( ( 100
CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest’' AS NUMERIC) - CAST(COALESCE(d.data -> ‘cte’ -> 'infCte’ -> imp' -> ‘icms’ -
->> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> 'icms' -> 'icms10' ->> 'vicms', d.data -> 'cte' -> 'infCte’ -> 'imp' -> 'icms' -> ‘icm
>> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms70' ->> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> 'icms' -> ‘'icm
‘vicms') as numeric) ) - ( ( CAST(d.data -> 'cte’ -> infCte’ -> ‘vprest' ->> 'vtPrest' AS NUMERIC) * (1.65/
'infCte' -> ‘vprest' ->> 'vtPrest' AS NUMERIC) * (7.6 1 100) ) ) ) / ( ( 100 - ( 1.65
CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest' AS NUMERIC) - CAST(COALESCE(d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> ‘icms' -
->>'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms10' ->> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> ‘icms' -> 'ici
>>'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> ‘'icms’ -> ‘icms70' ->> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp’ -> 'icms’ -> ‘icn|
‘vicms') as numeric) ) ) * 1.65/100 ) + ( ( ( CAST(d.data -> ‘cte’ -> 'infCte’ -> 'vprest' ->> ‘vtPrest' A
‘cte’ -> 'infCte' -> 'imp' -> ‘icms' -> 'icms00' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms10' ->> 'vicms', d.d
‘cte’ -> 'infCte’ -> 'imp’ -> ‘icms' -> 'icms20' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms70' ->> 'vicms', d.d
‘cte’ -> 'infCte’ -> 'imp’ -> 'icms’ -> 'icms90' ->> 'vicms') as numeric) ) ) * 7.6/100 ) ) -« ( ( ( (
‘vtPrest' AS NUMERIC) - CAST(COALESCE(d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms00' ->> 'vicms', d.data ->'g
'imp' -> ‘icms' -> 'icms10' ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms20' ->> 'vicms', d.data -> ‘cte' -> 'inf(
'imp' ->‘icms' -> 'icms70' ->> 'vicms', d.data -> ‘cte’ -> 'infCte’' -> 'imp’ -> 'icms’ -> 'icms90' ->> 'vicms') as numeric) ) -

‘cte’ -> 'infCte’ -> ‘vprest' ->> 'vtPrest' AS NUMERIC) * (1.65/100) ) + ( CAST(d.data -> ‘cte’ -> 'infCte" ->|
(7.6 /100) ) ) ) / ( ( 100 - ( 1.65 + 7.6 ) ) / 100 )
CAST(COALESCE(d.data -> 'cte' -> 'infCte’ -> 'imp' -> 'icms' -> 'icms00' ->> 'vicms', d.data -> 'cte' -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms|
>> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> 'icms' -> 'icms20’ ->> 'vicms', d.data -> 'cte’ -> 'infCte’ -> 'imp' -> 'icms' -> "icn|
‘vicms', d.data -> ‘cte’ -> ‘infCte’ -> 'imp’ -> 'icms' -> 'icms90' ->> 'vicms') as numeric) ) - ( ( CAST(d.datg
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Request Mean time (ms) | Max time (ms) Standard Mean cpu time | % of system
deviation (ms) error
‘vtPrest' AS NUMERIC) * (1.65/ 100) ) + ( CAST(d.data -> 'cte’ -> 'infCte’ -> 'vprest' ->> 'vtPrest’' AS NUMERIC) * (7.6 1 100) ) ) ) / ( 100 -
1.65 + 7.6 ) ) ! 100 ) ) * 7.6/100 ) ) ) asganhoGroussUp FROM documentd INNER JOIN dogument_status ds ON d.key = d$.key and
d.cnpj_issuer = ds.cnpj_issuer and d.protocol = ds.protocol and d.nsu = ds.nsu and d.type = ds.type WHERE  ds.status='1" AND
d.cnpj_issuer=? AND d.type IN (CTE''CTE_OS) AND CAST(COALESCE(d.data -> ‘cte’ -> 'infCte’ -> imp’ -> ‘icms' -> 'icms00' ->> ‘vbc',
d.data -> 'cte’ -> 'infCte’ -> 'imp' -> ‘icms’ -> 'icms10' ->> ‘vbc', d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> 'icms’ -> 'icms20' ->> 'vbc', d.data -> 'ctp' ->
‘infCte’ -> 'imp’ -> 'icms' -> 'icms70' ->> ‘vbc', d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> 'icms' -> 'icms90' ->> 'vbc’) as numeric) <>0 and
CAST(COALESCE(d.data -> ‘cte’ -> "infCte’ -> 'imp' -> ‘icms’ -> 'icms00' ->> 'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp' -> ‘icms' -> 'icms10’ ->>
'vicms', d.data -> ‘cte’ -> 'infCte’ -> 'imp’ -> 'icms’ -> 'icms20' ->> 'vicms', d.data -> ‘cte’ -> 'infCte" -> 'imp’ -> ‘'icms’ -> ‘icms70' ->> 'vicms',
d.data -> 'cte’ -> 'infCte’ -> 'imp’ -> 'icms' -> 'icms90' ->> 'vicms') as numeric) <>0  AND d.data_emissao BETWEEN CAST(? AS DATE) and
CAST(? ASDATE) AND d.keyin(?,?2,2,2,2,2,2,2,2,2,2,?) )as resultado WHERE ganhoGroussUp > 0
Hean times (ms) of SELECT * FROM ( SELEC - 1 day - 9/26/25 on _ip-10-0-10-142.ec2.internal
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E Mean Mean: 114
M Maximum  Maximum: 114
M 55th percentile NaN

The units of the values are "m" for milli (1 / 1000), "k" for kilo/thousands, "M" for mega/millions, "G" for giga/billions and "u" for micro (1 / 1000000)
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